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9. about
3. We think that one day, ( people ) could buy ( packages ) that contain powdered

10.

( versions ) of various food ingredients that would be assembled using 3-D printing. The printed

foods would then be cooked according to the user’s ( needs ) or preferences.
Bt are joined together to build a final Botiet.
from

At the moment, recent research has focused ( " )" a large variety ( of )
foods ( as ) possible candidates ( for ) 3-D printing,
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i discovery
5 runs

3. by taking a picture when something moves in front of

4. endangered

6. site -

6. Moreover, they ( did ) this most often in spots where trees had been ( cut )
down. They even ( used ) logging roads and paths ( Duilt ) by people.

choice of staying in trees and traveling

7. the a longer distance
g females
9. It doesn’t mean the animals can (  SuUrvive ) without forests, but it does (  Suggest )
there might ( be ) ways to cut forests carefully so the logging operations won’t greatly
( disturb ) these apes.
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